2019 RE/NFEARILHETE

8:156 ~ ¥ -RE=HFSH

i HIE

8:40~ BIS=t

B | & | fE5 | FsarER A fER B | (EI=C
1 BA 9:00 EHEESEHS — EHLSEYF—X
2 | BB 9:45 *—r7 = > 3E& — FEHC
3 | 38| 10:30 X IFHC — LS ESF—X
4 | &F | 10:50 E— 2 R — BRERS EEHS
1|15 BA 11:35 | E@LSE>*—X — R FHC
E _
Ble| =B | 12:20 HEHC — T—savmEm
7 | 38| 13:05 sigg - T= — EEEES BEHS
8 | &F 13:25 HFEHC — rEELSEYF—X
9 | BA 14:10 R IFHC — EEEE EEHS
10| =B 15:05 E— 2 VEE — X =z > 8lEs
11| &F | 8:45 | Emr>Er*—x — T— a3 ~EE
12 | &F 9:30 HFEHC — AR EHS
13 BT 10:15 —
5-6
Al — B2{I
14 | B\B# [ 10:35 —
MR
B1{ — A2
15| 8B | 11:20 —
ER
2 3& — 78
Blie| z=m | 12:05 —
B
305 — Ths
17 | 385k | 12:25 —
18| Z&F 12:45 EEESEEHS — EBLSEYF—X
19| &F 13:30 E— o EE — EEHC
140% — 156
20| B3R [ 14:15 _
IER
H& TP

_4_




o I = O T c X

[5-1in]
FEI-S A
= Mo I 8 | BR
= * 9 1
MR F * 5
R *
FEYV—-S:B
g |E—varv| HEE B =
8l E& * 10 2
E—>av * 6
'R *

K= _TEH 38 AT 0 BIESIT 1A ET S,
SRR L, BOADFRCEAIEL 00 1ADT L—F7 75,

OF s b—TF Ak

|
][9]

1 i

I  fiI v 7



[ 2+ i)

RFREY—7
=% |E-—vav| L HE B R
=454 * 4 18 12
E—-vav * 11 19
ik’ * 8
BE *

S V=TS _OEL 38 AT O SIENT 1RSI,
B ADE UBAIZ 10 1 KD L—F 7 L35,

[zeifiooin]

17

FHELIHC

16

% -

&% HEREHS

YR EHRFE 1 577 1A
FEOESIETm=aT AN (3AN) 295,




